小升初口奥试题（三）
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1. HHE0.75+9.75+99.75+999.75 + 1=

2. B, ZASERENTIRE EAE—IRANEOmTE,
RJE 30 DHMAB—RIBE. SEABENRE—BE 48 D0,
i8: ZiEshRR— BRSO ?

3. 0E: —MEIFRIM A, B, C. DOMIKITH, 2HAN
BRE 2 ¥HEX, BNERE 3 ¥HEX, CNERR S ¥A
BxX, BLRESHNBERRSDROENK?

4. IFERFH TSR AT B, AE—FFEE 7

AXB=A (A+1) (A+2) wwee (A+B-1),
LR (XX3) ¥2=3660, PLXZTSBD?
B

(1) Rat=1111

(2) 1+ (1+30-1+48) =80 (D§H)

(3) D=BXC+A=3x5+2=7.5(cn?)
KPHERA+B+C+D=2+3+5+7.5=17.5(cn ?)

(4) H33660=60 x 61 FIX33=60, = MESHSRHNTFAET 60,

RE3x4x5, FHUX=3




